Dammam Community College
MATH 011

 Past Exam Questions

     R.4 
1. Show that 
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is a factor of  
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Answer: 
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2. One factor of  
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 is:
Answer: 
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3. Factor the polynomial 
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as completely as possible. 

Answer: 
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4. The possible value(s) of 
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 that makes the trinomial 
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 a perfect square is(are):
 
Answer:  
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5. Find the positive value of 
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 for which the trinomial  
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 is a perfect square.

Answer: 
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6. Show that 
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 Answer: 
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7. Factorize 
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 as completely as possible.
 
 Answer:  
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8. Factorize 
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 as completely as possible.
 Answer:  
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9.  Factorize 
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 as completely as possible.
      Answer:  
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